Exit Ticket P2 - Properties of Quadrilaterals

Correct Answer: ABCD
Explanation:

--------------------------------------------------------------------------
Mo @1 B2 B4

Correct Answer: ABCD

Explanation:
The shape aboveisakite 0000 | 0 e
What is the size of the angle marked 2 | i
600 m 52
Not enou h ..........................................................................
40° : -
INFOrmMation | creririiiriiiis i
P (2, 3), (5, 3) and R (6, 5) are three vertices of a parallelogram. Correct Answer: A B C D
S is the fourth vertex.
What are the coordinates of §7 EXp|anatI0n .
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